

Contractor's Payment Estimate Summary

_			Contract I	Estimate Number	Pay Pe	riod Start	Pay Period	End	Date Ger	nerated	Estimate	Туре		District	Org. Code	
			171117-G05	0014	April 2,	2019	April 11, 2	019	April 11	, 2019	FINL			SW	GCJ	
Contracto	r	Vend	dor ID	Address		C	ity	S	tate	2	ZIP		Telep	hone		FAX
APAC-Central, Inc.		0010547		P.O. Box 9208		Fayettevil	le	AR		72703		(47-9)5-87-3			(47-9)5-21-2

Job Number	Federal/State Project Number	Description of work	Route Number	County	Location of work
J7S3118	FAF-66-1(22)	Coldmill and resurface	66	JASPER	from Loop 49 (Rangeline Road) to Rte 249

Critical Date	Actual Date	Key Date	Subject	Date Contractor Assumed Maintenance	Disturbed Area on Project	Authorized Area on Project	
Contract Items Complete Date	0				0	0	Acres
Physical Work Complete Date	0						
Price Adjustments Base Date	20171117						
Letting Date	20171117						
Execution Date	20171201						
Award Date	20171201						
Notice to Proceed Date	20180102						
Work Begin Date	20180924						
Open to Traffic Date	20180929						
Substantial Work Complete Date	20181031						
Original Completion Date	20181101						
Adjusted Completion Date	20181101						
Final Acceptance Date	20190415						

Totals by Job

Number				
J7S3118	Participating	To Date \$658,297.54	Previous \$658,297.54	This estimate \$0.00
	Non- Participating	\$0.00	\$0.00	\$0.00
	Total Earnings	\$658,297.54	\$658,297.54	\$0.00
	Stockpiled Materials	\$0.00	\$0.00	\$0.00
	Gross Earnings	\$658,297.54	\$658,297.54	\$0.00
	Other Adjustments	\$112,102.71	\$112,102.71	\$0.00
	Retainage	\$0.00	\$0.00	\$0.00

MoDOT

Contractor's Payment Estimate Summary

		O - m fare of ID	Fatherste Normalise	David David and Official	Dave David and Fred	Data Ormanatad	Fatimate Tama	District	Our Orde	
		Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code	
		171117-G05	0014	April 2, 2019	April 11, 2019	April 11, 2019	FINL	SW	GCJ	
Totals by Job Number										
	Incentive		\$0.00			\$0.00				\$0.0
	Disincentive		\$0.00			\$0.00				\$0.0
	Liquidated Damages		\$0.00			\$0.00				\$0.0
	Overrun Adjustments		\$0.00			\$0.00				\$0.0
	Total:	\$	770,400.25			0,400.25 Payable:				\$0.0
	Total Contract									
171117-G0	5					To Date		Previous		This Estimat
			Line Item F	Pay	\$	658,297.54	\$6	58,297.54		\$0.0
			All Adjustm	ients	\$	5112,102.71	\$1	12,102.71		\$0.0
			Total		\$	5770,400.25	\$7	70,400.25		\$0.0

If the "This Estimate" total is greater then \$100.00, this is a Pay estimate. If the "This Estimate" total is equal to \$0.00, this is a No Pay estimate. If the "This Estimate" total is between \$100.00 and \$0.00, this is a Minimum estimate and no payment will be made. This estimate will be rejected. If the "This Estimate" total is less than \$0.00, this is a Negative estimate and no payment will be made. This estimate will be rejected. You will be notified should this estimate be rejected for reasons other than those listed above.

Approval Date		User ID
20190411	Generated and Approved (and should be considered Draft) at the Project Office Level by	lanek1
20190501	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	holdtc
20190506	Reviewed and Approved at the Central Office Controllers Office Level by	greggd1

Original Contract Amount	Net Change Order Amount to Date	Current Contract Amount	% of current contract amount complete
\$739,125.86	(\$80828.32)	\$658,297.54	100.0%

Contract Adjustments: Line Item Adjustments: **Discrepancies:** All Items, This Estimate:

May 9, 2019



Contractor's Payment Estimate Summary

Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171117-G05	0014	April 2, 2019	April 11, 2019	April 11, 2019	FINL	SW	GCJ

Estimate Item Detail, All Items to Date:

Project Number	Category #	Line Number	ltem Code	Description	Current Bid + CO	Current Installed to Date	Unit Price	Amount Paid to Date
J7S3118	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	1.00	\$2000.00	\$2,000.00
J7S3118	0001	0020	2153000	SHAPING SLOPES, CLASS III	6.00	6.00	\$1490.00	\$8,940.00
J7S3118	0001	0030	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	9,183.50	9183.50	\$44.28	\$406,645.38
J7S3118	0001	0040	4079912	MISC. MISC. TACK COAT - LOW-TRACKING OR NON-TR ACKING	10,033.00	10033.00	\$3.60	\$36,118.80
J7S3118	0001	0041	4079912	MISC. NON STANDARD TACK COAT MISC. NON STANDARD TACK COAT	0.00	0.00	\$3.55	\$0.00
J7S3118	0001	0050	4134000	BITUMINOUS FOG SEAL	700.00	700.00	\$3.73	\$2,611.00
J7S3118	0001	0060	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	2.00	\$501.70	\$1,003.40
J7S3118	0001	0070	6161005	CONSTRUCTION SIGNS	666.00	666.00	\$6.60	\$4,395.60
J7S3118	0001	0080	6161024	CHANNELIZER (TRIM LINE) WITH LIGHT	20.00	20.00	\$30.50	\$610.00
J7S3118	0001	0090	6161025	CHANNELIZER (TRIM LINE)	230.00	230.00	\$15.25	\$3,507.50
J7S3118	0001	0100	6161031	TYPE III MOVEABLE BARRICADE WITH LIGHT	2.00	2.00	\$203.05	\$406.10
J7S3118	0001	0110	6161040	FLASHING ARROW PANEL	4.00	4.00	\$1015.25	\$4,061.00
J7S3118	0001	0120	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRA CTOR FURNISHED, CONTRACTOR RETAINED	2.00	2.00	\$2550.00	\$5,100.00
J7S3118	0001	0130	6181000	MOBILIZATION	1.00	1.00	\$12165.00	\$12,165.00
J7S3118	0001	0131	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	1,093.00	1093.00	\$5.35	\$5,847.55
J7S3118	0001	0132	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	530.00	530.00	\$13.25	\$7,022.50
J7S3118	0001	0133	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	278.00	278.00	\$13.25	\$3,683.50
J7S3118	0001	0134	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	68.00	68.00	\$223.90	\$15,225.20
J7S3118	0001	0135	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	0.00	0.00	\$223.90	\$0.00
J7S3118	0001	0136	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLO CK	31.00	31.00	\$142.50	\$4,417.50
J7S3118	0001	0140	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, T YPE L BEADS	35,983.00	35983.00	\$0.16	\$5,757.28
J7S3118	0001	0150	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TY PE L BEADS	29,058.00	29058.00	\$0.21	\$6,102.18
J7S3118	0001	0230	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	100,899.00	100899.00	\$0.95	\$95,854.05
J7S3118	0001	0240	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	1.00	\$2500.00	\$2,500.00
J7S3118	0010	0250	6061060	MGS GUARDRAIL	200.00	200.00	\$19.90	\$3,980.00



Contractor's Payment Estimate Summary

Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171117-G05	0014	April 2, 2019	April 11, 2019	April 11, 2019	FINL	SW	GCJ

Estimate Item Detail, All Items to Date:

		,						
Project Number	Category #	Line Number	ltem Code	Description	Current Bid + CO	Current Installed to Date	Unit Price	Amount Paid to Date
J7S3118	0010	0260	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	4.00	\$2442.00	\$9,768.00
J7S3118	0010	0270	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	4.00	\$2644.00	\$10,576.00

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Remarks in the following table are for documentation purposes:

Date User ID Remarks Text Field